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Directions (1-3):The given sentence has been
broken up into four different parts. The error, if
any, will be in one part of the sentence. Select the

option which contains the error-less combination.

If all are correct mark Option 5 as your answer.
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_ QUESTION1 Bty cabraben)

1 = dsderiqh Q& |l
Hgd = M&l The air quality is expected to |mprove. moderate’ or
- (- lower end of poor’ category on Thursday, but may

eriorated slightly on (B)/ Friday due to a change in
irection, said government-run (C)/ monitoring
agency SAFAR (System of Air Quality and Weather
Forecasting and Research) (D)/ No error (E)

1) ABC ACD

3) B;)D’ 4) DAB m
5) No error
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o = Bmiostl QUESTION2  [E9)

~—- nsed o give
e,mmmgi In January this year, the World Health

T Organization WHO) listed “vaccine
, |tancy tween the top 10 threats to
global health this year; it is defined as (C)/
“The reluctance or refusal to vaccinate despite
the availability of vaccines”. (D)/ No error (E)

3) DAB
5) No error
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e
B > \_~QUESTION 3 0:30

RS™ RN

Q( Q(\s The blockade of the Delhi poli
5@9 its personnel on Tuesday and the disruption of
-h / courts on Wednesday constituted a spectacular
@@D (C)/ breakdown of governance in the national

capital. (D)/ No error (E)

i’/;j; 4)//3(:”// il
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>girections (4-5):In the given questions, four words

of the sentence are given in bold and labelled as A,

ﬁ, C and D. Of these, the positions of two or more
words may be incorrect and need to be rearranged
to make the sentence correct. Find the correct
sequence of the word in bold. In case the given
arrangement is correct, your answer should be

‘No improvement’.
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8 AeD

ﬁUESTION 4

Ratan Tata’s advocate told the Bombay High
Court (A)/ that Nusli Wadia filled a criminal
defamation case (B) im because of a fallout
of a corporate dispute as (C)/ Mr. Wadia was a
strong supporter on the former Tata Sons
chairman Cyrus Mistry. (D)/ All are correct (E)

1) BCD % 3) ACD 4) DCA

5) All are correct
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&W Libya, |I‘Idia g S8
xt% and (C)/ stay in contact of
)@ oth rs\'thQ)mmunity. (D)/ All are correct (E)
1) ABC 2) BCD )

3) ACD 4) BAD
5) All are correct
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Directions (Q6-10): In the given questions, four

\%ﬂz\/ words of the sentence are given in bold and labelled
as A, B, C and D. Of these, the positions of two or

more words may be incorrect and need to be

rearranged to make the sentence correct. Find the

correct sequence of the word in bold. In case the
given arrangement is correct, your answer should

be ‘No improvement’.


http://www.mahendras.org/

[ & Hatkendra's | [FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E08717; English_Mahendrastive |

QUESTION 6

A A Once the Erainstomig%,(A) was filled with
——— water from the river, a reservoir (B)
session took place where everyone
pondered (C) over what to do with the
superfluity (D) of the water.

1) CADB \g§é;CD
3) DACB AHABDC

5) No imprpgement
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@E@Q >5O QUESTION 7
95@ The climate crisis (A) is of our own creation,

particularly that of the richest countries whose
exploiting (B) has been based on development

/LC)//naturaI resources (D) without end.
{7
aploh -

1)}ABDE- 2} ABEB— m

_3YKOBC 4)-ACBD—

5) No improvement .
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QUESTION 8

Some psychologists pronounced (A) that
stress is more speculate (B) for girls than
for boys in adolescence (C) due to the
conflicting (D) demands of traditional
female gender roles.

o /” 0:30
X(C Went
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To maintain safety and quality, however, Nasa’s
engineering include (A) will be made available
to work alongside the companies, yet each
proposal (B) must workforce (C) a plan about
how that collaboration (D) will take place.

1) BACD %BAD M

3) DBCA 4) ADCB

5) No improvement
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Directions (Q10-12): In the following question, an
idiom is given. It is then followed by three

— sentences which may or may not accurately
represent the meaning of the idiom. Choose the
best set of alternatives from the five options given
below of the sentences which embody the meaning

of the given idiom pertfectly.
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/

QUESTION 10 ) pevmm
Keep someone on their toes'/;%;%;f\g@“><O
%Manager had to keep Soumya on her toes as she was not
aying attention during the office hour/

B. India must keep Pak><{n on its toes to bring about peace to the
region.

C. The thief was kept on his toe e police.

%y A 2)OnlyB 3)OnlyC 4)BothA&C 5)None of these
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QUESTION 11
Cock a snook > o Jhare cantempt W&d m

A. Drunkards often indulge in bravery under the mflu%f alcohol
and boast of their imaginary qualities.

B. Although our team fought bravely it had to yield before the
superior power play of the opposite'tea

C. She is so proud of her wealth that she always shows impudent
contempt at the acts of her huspand.

J A

4) BothA&B 5)BothB&C
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QUESTION 1 Buvn heb in ends Pocal- %
SW to Spund [gm s

A. He is a person who spares no expense, Xto help strangers,
|

because he always comes to the he/lp of the ald and the children in
difficulties. 7

B. We had made a point of spare no expense by declaring that we
were not going to sigh the agréement.
C. When Ishika goes on a vacation, she spavr%mense.

1) Only A 2)OnlyB 3)OnlyC 4)BothA&B 5) None of these
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\// Directions((Q13-18):Read the
passage carefully and select the
correct answer for the given blank

out of the given alternatives.
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Political parties have become necessary adjuncts of government in modern times. They are the in-
struments whereby (1) are nominated and elected. Though they are not official organisa-
tions created by the state, they are nevertheless, quasi-official in the sense that _ (2) _ sanction,
regulate and permit them to offer candidates for public office. The ultimate aim of a political party
is to capture political power and keep  (3)___ of the government.

QUESTION 13 (1)

1) people

2) candidates m
3) youngsters

4) leaders

5) servants
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Political parties have become necessary adjuncts of government in modern times. They are the in-
struments whereby (1) are nominated and elected. Though they are not official organisa-
tions created by the state, they are nevertheless, quasi-official in the sense that _ (2) _ sanction,
regulate and permit them to offer candidates for public office. The ultimate aim of a political party
is to capture political power and keep  (3)___ of the government.

QUESTION 14 (2)

1) city

2) village m
3) foreign

4) states

5) policy
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Political parties have become necessary adjuncts of government in modern times. They are the in-
struments whereby (1) are nominated and elected. Though they are not official organisa-
tions created by the state, they are nevertheless, quasi-official in the sense that _ (2) _ sanction,
regulate and permit them to offer candidates for public office. The ultimate aim of a political party
is to capture political power and keep  (3)___ of the government.

QUESTION 15 (3)

1) play
2) fail

3) support m

4) handicap
5) control
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The numbersof  (4)  partiesin a state vary from one to many. England and the United States
have a two-party system. The advantage of this system is its capacity to present clearer cut issues
and fewer candidates instead of a multiplicity of positions on issues and a wide number of candi-
dates. The __ (5) _ party in this system serves as an effective opposition. France is the instance of
a state with multiple party systems. Under a multiple party system government change rapidly. The

____(6)___are bewildered by several viewpoints presented and the multiplicity of candidates they
must assess.

QUESTION 16 (4)

1) state

3) political

4) quiet
5) dirty
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The numbersof  (4)  partiesin a state vary from one to many. England and the United States
have a two-party system. The advantage of this system is its capacity to present clearer cut issues
and fewer candidates instead of a multiplicity of positions on issues and a wide number of candi-
dates. The __ (5) _ party in this system serves as an effective opposition. France is the instance of
a state with multiple party systems. Under a multiple party system government change rapidly. The

____(6)___are bewildered by several viewpoints presented and the multiplicity of candidates they
must assess.

QUESTION 17 (5)

1) losing
2) wining
3) political
4) quiet
5) third
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The numbersof  (4)  partiesin a state vary from one to many. England and the United States
have a two-party system. The advantage of this system is its capacity to present clearer cut issues
and fewer candidates instead of a multiplicity of positions on issues and a wide number of candi-
dates. The __ (5) _ party in this system serves as an effective opposition. France is the instance of
a state with multiple party systems. Under a multiple party system government change rapidly. The

____(6)___are bewildered by several viewpoints presented and the multiplicity of candidates they
must assess.

QUESTION 18 (6)

1) candidates

2) people
3) citizens m
4) voters
5) beings
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Directions(Q19-18):Read the given
passage and answer the following

questions
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Imagine going to the refrigerator one morning only to find it empty. Then turning
on the television to discover that there is a world-wide food shortage because
bees have gone extinct and, without our friendly pollinators, so has the food.

This hypothetical situation is not as far from our future reality as we would like
to think. Earth’s average temperature has risen almost two degrees since 1880.
That might not seem like much on paper, but the effects of this seemingly small
climate change can be seen in the weather, sea levels, and the health of our
global bee populations. In fact, the impact of changing temperatures on both
native and introduced pollinators has many experts believing slowing climate
change may be the only way to save the bees.
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It’s no secret that bee populations, especially honeybees, have been struggling in
recent years. In the short period of time between 2014 and 2017, an estimated
10 million hives were lost. Today, honeybees play a significant role in both our
natural ecosystem and our agricultural industry. However, in many ways, climate
change is harming native bee species and other pollinators far more than
honeybees. It's robbing them of their food, and breeding fuel. Many native
pollinators rely on only a small selection of flowers as a food source or for
breeding purposes. Besides, insects take care of our food requirements too.
Pollination is where insects move pollen from one plant to another, fertilising the
plants so that they can produce fruit, vegetables, seeds and so on. If all the bees
went extinct, it would destroy the delicate balance of the Earth's ecosystem and
affect global food supplies.
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QUESTION 19 0:30

Which of the following statements is TRUE according
to the given passage?

(A) Insects play an important role in food production.
(B) Climate change is harming bee population.
(C) Earth has gradually grown hotter in the past

century.
1) only A 2) only B
3)Aand B 4) A, Band C

5) None of the above
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QUESTION 20

Which of the following words are the most similar
in meaning to the word 'hypothetical’ ?

1) Relevant

2) Theoretical m
3) Scrupulous

4) Sanctimonious

5) None of these
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QUESTION 21

'Imagine going to the refrigerator one morning only to find it empty. Then
turning on the television to discover that there is a world-wide food shortage
because bees have gone extinct and, without our friendly pollinators, so has the
food.’

What does the author wish to convey by talking about this hypothetical situation?

1)T
2) T
3)T
4) T

nat bees play a major role in fulfilling one of our basic requirements.
nat we should start stocking up on food.
nat the television is quick to bring important news to the audience.

nat food is a non-renewable resource.
5) None of these m
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QUESTION 22

Which of the following is the most opposite in
meaning to the word 'significant’?

1) Worthless
2) Meaningful m
3) Requisite

4) Basic

5) None of the above
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QUESTION 23

Which of the following can be inferred from the passage?

(A) Measures need to be taken to slow down climate
change to save the bee population from extinction.

(B) Honey bees are going to become extinct in the next
three years.

(C) Honey bees are the most important insect species for
our agriculture industry.

1) only A 2) Aand B m

3)only B 4) A, Band C
5) None of the above
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QUESTION 24

Which of the following statements is NOT TRUE according to
the passage?

(A) Pollination is moving pollen from one plant to another.
(B) Climate change is harming native bee species and other
pollinators far more than honeybees.

(C) Many experts believe that slowing climate change may be
the only way to save the bees.

1) Only B 2) Only A
3) Only C 4) A, Band C m

5) None of the above.
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QUESTION 25

Which of the following can be a suitable title for the
given passage?

1) Bees and other pollinators. m

2) Climate change and global warming
3) Effect of climate change on bees.

4) Help from the honeybees

5) Either 1 or 2
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